Start with g(x) = sin(x).

Hint: Make sure you got the correct function by graphing it on some electronic gadget.
a) Define gA(X) to change the amplitude of g to 2.

b) Define gB(x) to change the amplitude of g to 1/2.

c) Define gC(x) to change the period to .

d) Define gD(x) to change the period to 41

Solution:

Use formula g(x) = A - sin(wx)
w=2n/T

T — period

Sin(x) is 27 period function

1) Define gA(x) to change the amplitude of g to 2.
A=2

E(x) = 1sm(x)
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2) Define gB(x) to change the amplitude of g to 1/2.
A=1/2
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3) c) Define gC(x) to change the period to 1.
w = 2n/m=2

E[x) = sin{2x)
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4) Define gD(x) to change the period to 41
w = 2n/4n=1/2
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